


H K K' 6 0 Ea4l /Single axis

HENHSE, HEMEFEIRIE

The picture is just for the reference.Please check the actual dimensions on the drawing.

ki
(& o)

1100mm/§

BESFRTHN

Ordering Method

DR

Rk
&

HKK60-L05-S100-BC-A2-T10-C1- N

B NMFES
Ontology Model
SiAEESH
Motor Position
N RBRLIT SR BC DBEESE
Ball Scre Lesd Motor Direct Connectio
05 5mm M TEEE BM ﬁﬁﬁzr Module
10 10mm Effective Stroke BL EN N
150_600mm Left Linear Module
Zixaifr

EFREE () BRAE

Right Linear Module

T EEFEC

Slide Style

A thE
Standard
S g
Light

1 8
Quantity 1
2 #H=
Quantity 2

LBl

Non-standard
Model

L RN R W iy AR BRER R 2R

Origin sensor Limit Sensor
=N R
E;?aiﬁ%owe%it 9H§§2 Out Side 1 1 R pcs
T ek (i) c 2 2Rpcs
Delta
p mr(mE) D RSN . 3 3Rpos
v =) 75 NO SENSOR 72 NO SENSOR
Yaskawa
= fi 7c 7
© g.)"—"EE " E {5 sensor 0736 sensor
ustomer preare
10 100W
20 200W
40 400W



EZ’S%}Q}% Specification

BEEEHEE Repeatability (mm)

BRIk 24T 542 Ball Screw Lead (mm)
IR Maximum Speed (mms)
HAFNEE LT Basic Dynamiv Load(N)
EEEjCEﬁ]}Hjj Maximum Starting Torque(N-cm)
FREE{TAZ Stroke Pitch (mm)

IXENINER AC Servo Motor Output (W)
TR 24 FF9MZ Ball Screw o (mm)
TBEEFFEUR 21 Siide Style And Quantity

Bt {4 a] 1% Optional Accessories

S

5 Bk H Si
JRRHBLES Home Sensor Outside

05
550
3744

+0.003
10

+0.01
05

1100 390

2410 3377
15 7

150,200,300,400,500,600
100
C7¢12

IR | BREEY 1 1R /2 IREJI%

EE-SX672(NPN)

10
790
2107

fRIPE. MEIPE. DIREZ. TEFX

*{TIEBIY 750 B, SFFERMRLTRIR, ISR IERE.

* When the srtoke is over 750mmthe run-out of the ball screw will occur.
We recommend to low down the working speed under this cicumstances.

* SIAMRIEIRE 0.2 B,

* Acceleration and deacc.

= il

LEIZ TECHNOLOGY

@m%?ﬁéﬁ (R=EKims ) Sensor Layout

f,é\—*;q Light indicator(red; J\@*
=
B ]
out be
e ~IC @) | 5724V
Ci::uit 1 (Control output)
[ o <100mA

I

Static Loading Moment

IKFERE o
Horizontal Installation E24%Z (unit):N - m

MY 152

MP 152

MR 419

m

* NFEFRRTHIEIE, RE L.
* The torque value in the chart indicate the center of gravity.
* FRTEIVERERSMET , %G 10000 A8,
* Operation life is 10,000km when the product is using under the
specified conditions
*BIRERLIEERENE, MEFRIESHINKER.
* Data information is not for ceiling-mount inverse use, contact us
for the details if you want to apply ceiling-mount inverse usage.

~

B4 (unit):mm \

82 4-M5x0.8Px8 DP
2xm-M2.6x0.45Px4 DP 51 2xn-05.5 THRU,0 9.5x4.7 DP
2x2-M3x0.5Px8 DP ) 30
v /) v
,\), i H Lel=1¢] & dl« i
=] = ©
#~ﬁw—77—f——#———w—ffg—wg—fg—f——fﬁe— g
Lie @} o @%E *e ?43 1 @% 0] ¢ |
30 |15 Vi
60 2-M2.6x0.45Px3 DP/| .__[15x1.5 DP
SECTION AA | K G
(m-1)xK
7 L2 7
L1
59
4-M3x0.5Px8 DP
PCD 40 A1
=== 3 A
@ 7 \% i , U -
3 4 H g e (A | B2 vews
v% & }%\ ! %f < o /| ° ‘ N [ | @
o BOR ‘| 1 A — T il =
f ‘ N 1 ' A g
W) S
4-M4x0.7Px8 D = 100 G
PCD 40 (n=1)x100
VIEWB

HEEKEL2(mm) 150 200 300 400 500 600

2K L1(mm) 220 270 370 470 570 670

BAFE(mm) 60 110 210 310 410 510

G(mm) 25 50 50 50 50 50

H(mm) 100 100 200 100 200 100

n 2 2 3 4 5 6

m 2 2 2 4 3 6

E8 (kg) 15 18 24 3 36 42

i, EEARE5IK. (Note: Weight does not include motor )

J

WWW.LEI-Z.COM

SaLIOSBIH

T
P
P
o
<]
i
i3
I




H K K' 8 B B2l /Single axis

HENHSE, HEMEFEIRIE

The picture is just for the reference.Please check the actual dimensions on the drawing.

EET‘ = :7‘=I é

B

ki
(& o)

BESFRTHN

Ordering Method

HKK86 - L10-S100-BC-A2 - T40-C1-N

B ARES B JFRAE
Ontology Model Non-standard
Model
i R R 2% M i A BRI =
D_, \j( \E}_‘_H_t E}_‘_$$—t Origin sensor Limit Sensor
SIREEDT 1B AT =SV =
il %22 Motor Position Slide Style E;?aiﬁ%owe%it SMERY Out Side 1 1Xpcs
t?‘?f == N . . _ . . N
o sﬁg = BC| JASENE A T ik () c W 2 23pcs
0] 1omm W EE Bw 2ETA, ST g gTese) D EEM 3 3
20 20 Effective Stroke ik S g F:inasomcﬂ
mm T BL Efﬁneamodu\e Light v fkaH (frifE ) 7C NO SENSOR 75 NO SENSOR
=" e = 7 7 I
%%ﬁe}g Module 1. #= C a‘iﬁeea’w E {6sensor 0 %6 sensor
Quantity 1
2 H= 10 100W
Quantity 2 20 200W
40 400W

EFREE () BRAE



EZ’S%}Q*% Specification

= il

LEIZ TECHNOLOGY

RN 2R E (R=Kims ) Sensor Layout

Light indicator(red:

BETENFEE Repeatability (mm)

BRIk 24T 542 Ball Screw Lead (mm)

0
10
740
7144

S ABENHHF] Maximum Starting Torque(N-cm) 1

BREIRE Maximum Speed (mm/s)

HAFNEE LT Basic Dynamiv Load(N)

FREE{TAZ Stroke Pitch (mm)

IXENINER AC Servo Motor Output (W)
TR 24 FF9MZ Ball Screw o (mm)
TBEEFF U 21 Siide Style And Quantity
FZ{4- ] 1% Optional Accessories

S

5 Bk H Si
JRRHBLES Home Sensor Outside

.003 +0.01
20 10 20
1480 520 1050
4645 6429 4175
5 10

340,440,540,640,740,940

400
C7¢15
IR | T

fRIPE. MEIPE. DIREZ. TEFX

EE-SX672(NPN)

*{TIEBIY 750 B, SFFERMRLTRIR, ISR IERE.

* When the srtoke is over 750mmthe run-out of the ball screw will occur.
We recommend to low down the working speed under this cicumstances.

* SIAMRIEIRE 0.2 B,

* Acceleration and deacc.

lg*

A s
fa‘é’f ‘ 8) i
L ouT Load be
EEE -
Main ~—IC (i) 5~24V
Circuit 1 (Control output)
T =) <100mA

I

Static Loading Moment

KA o
Horizontal Installation E24%Z (unit):N - m
MY 622
MP 622
MR 1507

(VIR ]

* NFEFRRTHIEIE, RE L.
* The torque value in the chart indicate the center of gravity.
* FRTEIVERERSMET , %G 10000 A8,
* Operation life is 10,000km when the product is using under the
specified conditions
*BIRERLIEERENE, MEFRIESHINKER.
* Data information is not for ceiling-mount inverse use, contact us
for the details if you want to apply ceiling-mount inverse usage.

-

EAAT (unit):mm \

116
75
2xm-M2.6x0.45Px4 DP 46 4-M6x1Px12 DP
2x2-M4x0.7Px10 DP 2-M2.6x0.45Px4 DP 15x2 DP 2xn—0 6.6 THRU,0 11x6 DP
60 T i v s
-6 b T o < [& d q I;
T ial /L — = g ‘ §X
A | AT DD = ® 28
T e | © ellelfo 1 L g
|46 _[20 | hd it - R
86 65 || ‘ 75
200 H
SECTION AA (=1)x200 G5
87
4-M5x0.8Px10 DP a5
PCD 70 -
>
Q T
@ A v e
2 | i ‘ o
< o i I e —— | E—— T i} = - — | 5= § oo| _VIEWB
© 3l v 1] f = ‘ A
=] S S| + i | o S
2N A0 o] T bt =
f - A * 1 ‘—>A %
/4-M4x0.7Px8 DP 100 70 =
PCD 60 (n=1)x100
VIEWB L2
L1
HERKEL2(mm) 340 440 540 640 740 940
2K L1(mm) 440 540 640 740 840 940
BAITEE (mm) 2165 3165 4165 5165 610 810
H(mm) 70 20 70 20 70 70
n 3 4 5 6 7 9
m 2 3 3 4 4 5
BF= (kg) 57 6.9 8 92 104 116
iE: EEAEE. (Note: Weight does not include motor )

WWW.LEI-Z.COM



